Gh-Mi-Lesson 1

Note: It is common to encourage students to simply “move the decimal point” a number of places when
multiplying or dividing by powers of 10. Instead, encourage students to understand that the decimal point
lives between the ones place and the tenths place. The decimal point does not move. Rather, the digits shift
along the place value chart when multiplying and dividing by powers of ten.

Use the place value chart and arrows to show how the value of the each digit changes.

1. 4215x10= 4Z.15
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4 ones times 10 is 4 tens. Since I'm multiplying by 18, When multiplying by 10, each digit
the value of each digit becomes 10 times greater. shifts 1 place to the Jeft on the place
value chart.

2. 421 +100= 4.21%

4 hundreds divided by 100 is 4 ones. Since I'm dividing ' When dividing by 100, each digit shifts 2
by 100, the value of each digit becomes 100 times places to the right on the place value
smaller. chart.

E“M“ fesson 1: Reason concretely and pictoriaily using place value understanding o 1
M &THN relate adjacent base ten units from millions to thousandths.
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3. A student used his place value chart to show a number. After the teacher instructed hi

first.

3 hundreds times 10is 3 thousands. The original number must have
had a 3 in the hundreds place.

m to multiply his
number by 10, the chart showed 3,200.4. Draw a picture of what the place value chart looked like at

thousands | hundreds !

place to the left, sa | shifted each digit 1 place back to the
show the original number.

| used the place value chart 10 help me visualize what the original
number was. When multiplying by 10, each digit must have shifted 1

right to

4. A microscope has a setling that magnifies an object so that it appears 100 times as large when viewed

through the eyepiece. If a smali bug is 0.183 cm jong, how long will the insect appear i
through the microscope? Explain how you know.

n centimeters

a When multiplying by 100,
each digit shifts 2 places

T . | tothe left onthe place
T value chart.

The hug will appear to be 18.3 cm fong through the microscepe.

100, Foch digit shifts 2 pluces io the left.

2 {esson 1 Reason concretely and pictoriali‘,! using place vaiue gnderstanding 1o
relate adjacent base ten units from mitlions to thousandths.

Since the microscope magnifies objects 100 times, the bug will cppear to e 150 times lorger. |
used o ploce value chart to show what happens t0 the value of each digit when it is muftiptied by
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